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[image: image2.png]In the last Investigation, you examined the patterns in the table and graph
for the relationship relating Alana's distance d and money earned A in
the walkathon.

The equation A = 5 + 0.5 is another way to represent that relationship.
The graph of the relationship is a line that contains infinitely many
points. The coordinates of each point can be substituted into the
equation to make a true statement. The coordinates of these points are
solutions to the equation.



Problem 3.
[image: image3.png]In a relationship between two variables, if you know the value of one
variable, you can use a table or a graph to find the value of the other
variable. For example, suppose Alana raises $10 from a sponsor in the
walkathon from Problem 1.3. Then you can ask: How many kilometers
does Alana walk?

In the equation A = 5 + 0.5d, this means that A = 10. The equation is now
10 =5+ 0.5d.

« What value of d will make this a true statement?

Finding the value of d that will make this a true statement is called solving
the equation for d. You can use tables or graphs to find the missing value.
In this Investigation, you will develop strategies for solving equations
symbolically, using properties of operations and equality.






Discussion Questions:

[image: image4.png]For example, the point (3, 6.5) lies on the line of A = 5 + 0.5d. This
means thatd = 3,A = and 6.5 = 5 + 0.5(3) is a true statement. So,
the coordinate pair (3, 6.5) is a solution to the equation.







1)
Does the point (30, 20) lie on the line?




Is it a solution to the equation?




Explain.



2)
Does the point (20, 20) lie on the line?




Is it a solution to the equation?




Explain.

3)
What happens if you choose a point that is not visible on this section of the graph, such as (70, 40)? 

Is it on the line? 

Explain.

[image: image5.png]‘The corresponding entries in a table are the coordinates of points on the
line representing the equation A = 5 + 0.5d. So, we can also find a solution
to an equation by using a table.

+ How could you find the value of d that corresponds to A = 30 in
the table?




	d
	A

	   0
	  5

	   1
	  5.5

	   2
	  6

	   3
	  6.5

	   4
	  7

	20
	15

	25
	17.5

	30
	20

	  ?
	30
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